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&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE
Z2-2-8-5 Off &4 & E Ol At
OEsE =28 =82s 12,600
OZArZ M A A 2l X HI = I 77,500
OA=HES AU 28,870
S SO A DAL M A 4,800
OxzMzE SEEI 2&H 320
OxME SEEJH 2] 1,110
OXZME MAFH(ZSH) 29,962
OMN}=Ma 2 22,000
Ottrs=Hadd 2,219
OtRsEHE 3,497
Oxzshtd =z 2,100
O4=gMn 9,000
ORYe2S=E 7,000
OunSsML HNA=E 1,350
Ost2X0l Edtdd=s 4,720
O&ed ez 2UAS8 480
OFAMAIE &FHA 3,100
OMEMELX 2EXZ2FX 2,273
OJ=FML=AL, T X 77,358
OFMSHA HE Al=tl 7,956
OFHMYA ol (arm2) 11,550
Oax=sssE #g 10,080
OFHAHA AEY A 23K 4,290
OHHXI MW 280l A Ol == Al 12,620
OFHYA olysa(ds) 19,800
OXE IE24S3 24,750
Ositas 2EH| 30,598
o829 =¥ 31,680
O E=24de g 23 26,781
Oax=AIE 4X 2,335
OJdl=sJt 28 2el 9,000
O"HAaxE2484&E NE 3,600
OFUNHEES 4,990

O2J Olsag=8N HEF Y 12,971




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE

Z2-2-8-5 Off &4 & E Ol At Hns2

OFdsotdaeasI|I= HELE 2,160

< HSAEAE A > 47,002 393,082 346,080
OH=E2E &4 1AHl & 23| 29,000
odEM=sUz =4 4,000
Oodgrsnd 29 4,838
O0lglol Msua 950
O&=HM=ts 1,037
O3AE Maeud 950
Odd &M= 1,123
OZglg 324 Msus 604
AXX 2H0IEH 4,500

< ANEEZAZ > 1,000 1,500 A 500
O=SAEHE2S(1&H2) 1,000

700 EX+=ASHUENH 23,137,976 40,791,736 A 17,653,760

710 Ed+US 18,000,000 15,000,000 3,000,000

711 = 18,000,000 15,000,000 3,000,000

711-01 =MAHLAH2 18,000,000 15,000,000 3,000,000

[ el A ] 18,000,000 156,000,000 3,000,000

< M > 18,000,000 156,000,000 3,000,000
Oz=MALAHS 18,000,000

720 LH 2 A ch 5,137,976 25,791,736 A~20,653,760

721 dY= 5,137,976 25,791,736 A 20,653,760

721-03 JIEISI HE L = 4,500,000 25,600,000 21,100,000

[ 2etsl A ] 4,500,000 25,600,000 A21,100,000

< MehEtel it > 4,500,000 5,000,000 A500,000
O=MEMUH= 4,500,000

721-04 D&Y S 430,000 0 430,000

[ el A ] 430,000 0 430,000

< FQUMEXEDY > 430,000 0 430,000
OXgdy &= 430,000

721-05 WSFHSE3AHEL = 207,976 191,736 16,240

[ 2etsl A ] 207,976 191,736 16,240

< otMzel I > 194,976 178,736 16,240
Ox=sstu CCTVS2MEH 22l 194,976
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